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QUESTION 1

What is the most recommended network time protocol (NTP) configuration for AppInternal Xpert? 

A. Managed nodes use the embedded client and synchronize with a common server. 

B. Managed nodes use the embedded NTP client and synchronize with symmetric multiprocessing (SMP). 

C. Managed nodes use their own NTP client. 

D. No specific NTP configuration is needed, as AppInternal Xpert could handle the correct timing by itself. 

Correct Answer: B 

 

QUESTION 2

Which metrics help the user perform heap analysis? (Select 3) 

A. Percent of free heap 

B. Percent of time garbage collecting 

C. Percent of usage 

D. Average number of live objects 

Correct Answer: ABD 

 

QUESTION 3

What is required to allow a user to edit dashboard contents and settings? 

A. As long as a user can view the dashboard, they can make their own local edits. 

B. The user has to own the dashboard to be able to do full editing. 

C. The owner can grant specific users full access. 

Correct Answer: B 

 

QUESTION 4

When selecting a business group, the application stream analysis metric "User Response Time (Clients)" calculates
what for the clients in the business group? 

A. The average of all TCP turn response times for the selected item for the chosen granularity over the chosen interval 

B. The sum of all TCP turn response times for the selected item for the given interval 
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C. The sum of all TCP turn response times divided by the throughput for the given interval 

D. The response time for the busiest connected server to the business group 

E. The response time for a complete HTTP page rendering for the selected group 

Correct Answer: A 

 

QUESTION 5

Which of these are not available to instrument a web application with BrowserMetrix? 

A. Use Riverbed Steelhead to inject the script at run time from the web server. 

B. Use Riverbed Stingray to inject the script at run time from the web server. 

C. Manually paste the Javascript in any web page you want to monitor with BrowserMetrix. 

D. Edit a master file for the application by adding the Javascript to the header section of the file. 

Correct Answer: A 
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